Molarity Worksheet





Name: _________________




1.  Determine the concentrations of the following solutions:


a. 0.87 mol MgCl2 dissolved in 3.0 L of solution.

b. 1.6 mol Co(OH)2 dissolved in 200.0 mL of solution.

c. 8.4 mol of NaCl dissolved in 2100 mL of solution.

d. 425 g of NaNO3 dissolved in 2.0 L of solution.

e. 17.0 g of AgCl dissolved in 500.0 mL of solution.

f. 5.0 g of NaOH dissolved in 60.0 mL of solution.

2.  What mass of each of the following salts is required to prepare a solution with the given concentration?


a. 1.0 L of 0.50 M NaI

b. 4.0 L of 3.0 M Na2SO4
c. 25.0 mL of 7.00 M Lead (II) nitrate

d. 1500 mL of 0.20 M Potassium phosphate

3.  What is the [NaOH] if 600.0 mL of solution contains 14.6 g of NaOH?
4.  Calculate the [BaI2] if a container has 0.653 mol within 1.23 L of solution.

5.  Calculate the number of moles of Calcium carbonate in 42.5 mL of 0.400 M solution.

6.  Calculate the mass (in g) of Silver nitrate that is required to prepare 250 mL of 0.100 M solution.

7.  What volume of 1.20 M NaCl(aq) can be prepared from 12.5 g of NaCl(s)?
8.  How many moles of SrI2 exist in 55.0 mL of 1.30 x 10-3 M SrI2 solution?
